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QUESTION 1

Supercar is an online vehicle sales website specializing in a single manufacturer\\'s Sports Utility Vehicles (SUVs) and
saloons. A vehicle has two key elements, power unit and body style. 

The manufacturer offers three choices of power unit: petrol, diesel and hybrid. There are 3 main body styles: Saloon,
Hatchback and SUV. SUVs only come as petrol and diesel options. Hybrid is available for Hatchback only. The site will
allow an order to be processed if at least one of the chosen vehicle configuration is in stock, otherwise a message will
be displayed asking the user to try again later. As a tester you are asked to review the "Supercar" specification before
starting to design the corresponding test cases. Which of the comments below would you make? [K3] 2 credits 

A. I have no comments, specification looks ok 

B. Boundaries for stock levels are ambiguous 

C. Dependencies power unit and body styles are ambiguous 

D. It is not clear which message will be displayed when "out of stock" 

Correct Answer: D 

 

QUESTION 2

A diamond retailer is introducing a new stock taking system. Each diamond is assigned a character that represents the
colour. The valid domain for the character ranges from D to Z. The colour is then graded using the following scale: 

Which of the following test sets will provide the best equivalence partitioning coverage? [K3] 2 credits 

A. D, F, G, H, K, M, N, P, T, Z 

B. D, G, K, N, S 

C. A, E, H, L, P, T, ? 

D. E, H, L, M, U, 

Correct Answer: C 

 

QUESTION 3

Based on the classification tree show below, how many test cases are required using the classification tree method? 
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[K3] 2 credits 

A. 2 

B. 3 

C. 4 

D. 6 

Correct Answer: B 

 

QUESTION 4

A new web site must operate correctly with different browsers (Internet Explorer, Google Chrome, Firefox, 

Netscape, Mozilla), using different plug-ins (Realplayer, Mediaplayer), will be receiving pages from 

different servers (IIS, Apache and WebLogic) and will be running on various server operation systems 

(windows 2007, XP, Linux) 

Which of the following test techniques will you use to test this new web site in its various environments? 

[K4] 3 credits 

A. pairwise testing 

B. exploratory testing 

C. use case testing 

D. decision table testing 

Correct Answer: A 
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QUESTION 5

Which of the following criteria on test progress would enable the business to determine a likely `go live\\' date? 

(i) Number of tests planned versus number of tests executed (ii) Number of high priority defects outstanding 

(iii) The test team\\'s timesheets in order to show how much effort has been devoted to testing (iv) Number of tests
passed and number failed (v) Number of defects found in each development area 

(vi) The rate at which defects are being found 

[K2] 1 credit 

A. (ii), (iii), (iv) 

B. (i), (iii), (v) 

C. (i), (ii), (vi) 

D. (iv), (v), (vi) 

Correct Answer: C 
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